



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Artificial Intelligence) 3rd Semester Section-A Morning Session: Autumn 2025

Registration #	Name	AI213					AI215					AI221					EW244					GE234					GE265				
		Database Systems					Data Structure					Programming for AI					Technical & Business Writing					Advance Statistics					Calculus and Analytic Geometry				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
BS-AI-Aut-24-M-A-0001	Abdullah Khan *	74	B	3.0	3	9.0	71	B	3.0	3	9.0	76	B+	3.5	3	10.5	77	B+	3.5	3	10.5	86	A	4.0	3	12.0	50	D	1.5	3	4.5
BS-AI-Aut-24-M-A-0004	Alishba Mahnoor *	71	B	3.0	3	9.0	70	B	3.0	3	9.0	76	B+	3.5	3	10.5	80	A	4.0	3	12.0	81	A	4.0	3	12.0	87	A	4.0	3	12.0
BS-AI-Aut-24-M-A-0005	Amna Masood *	72	B	3.0	3	9.0	72	B	3.0	3	9.0	81	A	4.0	3	12.0	75	B+	3.5	3	10.5	81	A	4.0	3	12.0	-	F	-	3	-
BS-AI-Aut-24-M-A-0007	Awais Luqman *	56	C	2.0	3	6.0	59	C	2.0	3	6.0	71	B	3.0	3	9.0	75	B+	3.5	3	10.5	51	D	1.5	3	4.5	50	D	1.5	3	4.5
BS-AI-Aut-24-M-A-0008	Ayesha Khadim *	73	B	3.0	3	9.0	72	B	3.0	3	9.0	76	B+	3.5	3	10.5	80	A	4.0	3	12.0	73	B	3.0	3	9.0	61	C	2.0	3	6.0
BS-AI-Aut-24-M-A-0009	Bilal Ahmed *	55	C	2.0	3	6.0	75	B+	3.5	3	10.5	66	C+	2.5	3	7.5	82	A	4.0	3	12.0	67	C+	2.5	3	7.5	57	C	2.0	3	6.0
BS-AI-Aut-24-M-A-0010	Gul Ahmad Amin *	61	C	2.0	3	6.0	70	B	3.0	3	9.0	58	C	2.0	3	6.0	80	A	4.0	3	12.0	67	C+	2.5	3	7.5	50	D	1.5	3	4.5
BS-AI-Aut-24-M-A-0011	Gulfam Kaleem *	59	C	2.0	3	6.0	75	B+	3.5	3	10.5	81	A	4.0	3	12.0	80	A	4.0	3	12.0	77	B+	3.5	3	10.5	66	C+	2.5	3	7.5
BS-AI-Aut-24-M-A-0012	Hafiza Amna Hashmi *	18	F	-	3	-	37	F	-	3	-	26	F	-	3	-	36	F	-	3	-	29	F	-	3	-	30	F	-	3	-
BS-AI-Aut-24-M-A-0013	Hafsa Naveed *	47	F	-	3	-	61	C	2.0	3	6.0	57	C	2.0	3	6.0	80	A	4.0	3	12.0	44	F	-	3	-	50	D	1.5	3	4.5
BS-AI-Aut-24-M-A-0014	Hammad Yousof *	69	C+	2.5	3	7.5	53	D	1.5	3	4.5	56	C	2.0	3	6.0	75	B+	3.5	3	10.5	67	C+	2.5	3	7.5	56	C	2.0	3	6.0
BS-AI-Aut-24-M-A-0015	Hamna Ahmed *	83	A	4.0	3	12.0	80	A	4.0	3	12.0	85	A	4.0	3	12.0	83	A	4.0	3	12.0	87	A	4.0	3	12.0	93	A	4.0	3	12.0
BS-AI-Aut-24-M-A-0016	Huria Noor *	53	D	1.5	3	4.5	58	C	2.0	3	6.0	52	D	1.5	3	4.5	78	B+	3.5	3	10.5	57	C	2.0	3	6.0	52	D	1.5	3	4.5
BS-AI-Aut-24-M-A-0017	Husain Haqqani	19	F	-	3	-	23	F	-	3	-	-	F	-	3	-	38	F	-	3	-	24	F	-	3	-	24	F	-	3	-
BS-AI-Aut-24-M-A-0019	Laila Kalsoom *	71	B	3.0	3	9.0	65	C+	2.5	3	7.5	71	B	3.0	3	9.0	80	A	4.0	3	12.0	68	C+	2.5	3	7.5	51	D	1.5	3	4.5
BS-AI-Aut-24-M-A-0020	Mahnoor Mahar *	62	C	2.0	3	6.0	67	C+	2.5	3	7.5	71	B	3.0	3	9.0	76	B+	3.5	3	10.5	75	B+	3.5	3	10.5	51	D	1.5	3	4.5
BS-AI-Aut-24-M-A-0021	Muhammad Adil Mujtaba *	67	C+	2.5	3	7.5	75	B+	3.5	3	10.5	57	C	2.0	3	6.0	76	B+	3.5	3	10.5	75	B+	3.5	3	10.5	66	C+	2.5	3	7.5
BS-AI-Aut-24-M-A-0022	Muhammad Ali *	59	C	2.0	3	6.0	50	D	1.5	3	4.5	81	A	4.0	3	12.0	77	B+	3.5	3	10.5	59	C	2.0	3	6.0	40	F	-	3	-
BS-AI-Aut-24-M-A-0023	Muhammad Awais Khan *	58	C	2.0	3	6.0	77	B+	3.5	3	10.5	51	D	1.5	3	4.5	71	B	3.0	3	9.0	51	D	1.5	3	4.5	34	F	-	3	-
BS-AI-Aut-24-M-A-0024	Muhammad Hanzala Hassan	55	C	2.0	3	6.0	60	C	2.0	3	6.0	81	A	4.0	3	12.0	71	B	3.0	3	9.0	41	F	-	3	-	66	C+	2.5	3	7.5
BS-AI-Aut-24-M-A-0026	Muhammad Jahangir *	39	F	-	3	-	50	D	1.5	3	4.5	51	D	1.5	3	4.5	80	A	4.0	3	12.0	26	F	-	3	-	28	F	-	3	-
BS-AI-Aut-24-M-A-0027	Muhammad Muqtadir Kareem *	51	D	1.5	3	4.5	76	B+	3.5	3	10.5	57	C	2.0	3	6.0	76	B+	3.5	3	10.5	53	D	1.5	3	4.5	40	F	-	3	-
BS-AI-Aut-24-M-A-0028	Muhammad Musa *	69	C+	2.5	3	7.5	82	A	4.0	3	12.0	81	A	4.0	3	12.0	75	B+	3.5	3	10.5	84	A	4.0	3	12.0	50	D	1.5	3	4.5
BS-AI-Aut-24-M-A-0029	Muhammad Shahwaiz Khan *	89	A	4.0	3	12.0	75	B+	3.5	3	10.5	81	A	4.0	3	12.0	81	A	4.0	3	12.0	84	A	4.0	3	12.0	75	B+	3.5	3	10.5
BS-AI-Aut-24-M-A-0030	Muhammad Yaseen *	70	B	3.0	3	9.0	67	C+	2.5	3	7.5	66	C+	2.5	3	7.5	80	A	4.0	3	12.0	38	F	-	3	-	57	C	2.0	3	6.0
BS-AI-Aut-24-M-A-0031	Muhammad Zaheer Ul Haq *	33	F	-	3	-	71	B	3.0	3	9.0	51	D	1.5	3	4.5	76	B+	3.5	3	10.5	60	C	2.0	3	6.0	71	B	3.0	3	9.0
BS-AI-Aut-24-M-A-0033	Mujtaba Kamal *	54	D	1.5	3	4.5	72	B	3.0	3	9.0	52	D	1.5	3	4.5	77	B+	3.5	3	10.5	85	A	4.0	3	12.0	51	D	1.5	3	4.5
BS-AI-Aut-24-M-A-0034	Nadia Bibi *	58	C	2.0	3	6.0	61	C	2.0	3	6.0	59	C	2.0	3	6.0	75	B+	3.5	3	10.5	61	C	2.0	3	6.0	55	C	2.0	3	6.0
BS-AI-Aut-24-M-A-0035	Nehdiah Waheed *	80	A	4.0	3	12.0	76	B+	3.5	3	10.5	81	A	4.0	3	12.0	80	A	4.0	3	12.0	76	B+	3.5	3	10.5	81	A	4.0	3	12.0

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Artificial Intelligence) 3rd Semester Section-A Morning Session: Autumn 2025

		SE111					SE112					SE114					
		Programming Fundamentals (C)					Object Oriented Programming					Digital Logic Design					
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	
BS-AI-Aut-24-M-A-0001	Abdullah Khan *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0004	Alishba Mahnoor *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0005	Amina Masood *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0007	Awais Luqman *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0008	Ayesha Khadim *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0009	Bilal Ahmed *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0010	Gul Ahmad Amin *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0011	Gulfam Kaleem *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0012	Hafiza Amna Hashmi *	31	F	-	4	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0013	Hafsa Naveed *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0014	Hammad Yousuf *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0015	Hamna Ahmed *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0016	Huria Noor *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0017	Husain Haqqani	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0019	Laila Kalsoom *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0020	Mahnoor Mahar *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0021	Muhammad Adil Mujtaba *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0022	Muhammad Ali *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0023	Muhammad Awais Khan *	74	B	3.0	4	12.0	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0024	Muhammad Hanzala Hassan	-	-	-	-	-	38	F	-	4	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0026	Muhammad Jahangir *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0027	Muhammad Muqtadir Kareem *	-	-	-	-	-	51	D	1.5	4	6.0	-	-	-	-	-	
BS-AI-Aut-24-M-A-0028	Muhammad Musa *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0029	Muhammad Shahwaiz Khan *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0030	Muhammad Yaseen *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0031	Muhammad Zaheer Ul Haq *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0033	Mujtaba Kamal *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0034	Nadia Bibi *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS-AI-Aut-24-M-A-0035	Nehdiyah Waheed *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
BS (Artificial Intelligence) 3rd Semester Section-A Morning Session: Autumn 2025

Registration #	Name	AI213					AI215					AI221					EW244					GE234					GE265				
		Database Systems					Data Structure					Programming for AI					Technical & Business Writing					Advance Statistics					Calculus and Analytic Geometry				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
BS-AI-Aut-24-M-A-0036	Rafia Bibi *	40	F	-	3	-	67	C+	2.5	3	7.5	56	C	2.0	3	6.0	77	B+	3.5	3	10.5	55	C	2.0	3	6.0	50	D	1.5	3	4.5
BS-AI-Aut-24-M-A-0037	Saad Ameer *	51	D	1.5	3	4.5	66	C+	2.5	3	7.5	51	D	1.5	3	4.5	80	A	4.0	3	12.0	37	F	-	3	-	50	D	1.5	3	4.5
BS-AI-Aut-24-M-A-0039	Saima Batool *	64	C	2.0	3	6.0	67	C+	2.5	3	7.5	66	C+	2.5	3	7.5	75	B+	3.5	3	10.5	80	A	4.0	3	12.0	71	B	3.0	3	9.0
BS-AI-Aut-24-M-A-0040	Samia Zehra	46	F	-	3	-	68	C+	2.5	3	7.5	51	D	1.5	3	4.5	70	B	3.0	3	9.0	58	C	2.0	3	6.0	52	D	1.5	3	4.5
BS-AI-Aut-24-M-A-0041	Samra Abid *	-	F	-	3	-	80	A	4.0	3	12.0	88	A	4.0	3	12.0	80	A	4.0	3	12.0	76	B+	3.5	3	10.5	81	A	4.0	3	12.0
BS-AI-Aut-24-M-A-0043	Sharoon Ajmal	49	F	-	3	-	60	C	2.0	3	6.0	57	C	2.0	3	6.0	73	B	3.0	3	9.0	62	C	2.0	3	6.0	50	D	1.5	3	4.5
BS-AI-Aut-24-M-A-0045	Syeda Mashal Zahra *	85	A	4.0	3	12.0	80	A	4.0	3	12.0	83	A	4.0	3	12.0	81	A	4.0	3	12.0	86	A	4.0	3	12.0	85	A	4.0	3	12.0
BS-AI-Aut-24-M-A-0046	Talha Anwar	58	C	2.0	3	6.0	65	C+	2.5	3	7.5	66	C+	2.5	3	7.5	73	B	3.0	3	9.0	55	C	2.0	3	6.0	59	C	2.0	3	6.0
BS-AI-Aut-24-M-A-0048	Tayyaba Rasheed *	86	A	4.0	3	12.0	80	A	4.0	3	12.0	82	A	4.0	3	12.0	81	A	4.0	3	12.0	91	A	4.0	3	12.0	91	A	4.0	3	12.0
BS-AI-Aut-24-M-A-0049	Tufail Akbar *	46	F	-	3	-	67	C+	2.5	3	7.5	62	C	2.0	3	6.0	70	B	3.0	3	9.0	51	D	1.5	3	4.5	30	F	-	3	-
BS-AI-Aut-24-M-A-0050	Umair Fazal *	51	D	1.5	3	4.5	65	C+	2.5	3	7.5	60	C	2.0	3	6.0	75	B+	3.5	3	10.5	35	F	-	3	-	28	F	-	3	-
BS-AI-Aut-24-M-A-0051	Wazir Muhammad Shazaib *	50	D	1.5	3	4.5	75	B+	3.5	3	10.5	76	B+	3.5	3	10.5	77	B+	3.5	3	10.5	76	B+	3.5	3	10.5	69	C+	2.5	3	7.5

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
BS (Artificial Intelligence) 3rd Semester Section-A Morning Session: Autumn 2025

		SE111					SE112					SE114					
		Programming Fundamentals (C)					Object Oriented Programming					Digital Logic Design					
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	
BS-AI-Aut-24-M-A-0036	Rafia Bibi *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
BS-AI-Aut-24-M-A-0037	Saad Ameer *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
BS-AI-Aut-24-M-A-0039	Saima Batool *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
BS-AI-Aut-24-M-A-0040	Samia Zehra	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
BS-AI-Aut-24-M-A-0041	Samra Abid *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
BS-AI-Aut-24-M-A-0043	Sharoon Ajmal	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
BS-AI-Aut-24-M-A-0045	Syeda Mashal Zahra *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
BS-AI-Aut-24-M-A-0046	Talha Anwar	-	-	-	-	-	-	-	-	-	23	F	-	3	-	-	-
BS-AI-Aut-24-M-A-0048	Tayyaba Rasheed *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
BS-AI-Aut-24-M-A-0049	Tufail Akbar *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
BS-AI-Aut-24-M-A-0050	Umair Fazal *	67	C+	2.5	4	10.0	-	-	-	-	-	-	-	-	-	-	-
BS-AI-Aut-24-M-A-0051	Wazir Muhammad Shazaib *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026